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of television viewershiP. A grouP of 300 viewers were asked

of TV show they prefer. The results were organ

test was carried out, at the 5% significance level. fhe 7' critical

test is 7.82,

(a) Write down the null hypothesis for this test'

(b) Write down the number of viewers who preferred sports and were older

than 30 years old.

(c) Use your graphic display calculator to find the y' statistic for this test.

t1l

l2I

Aqed 30 years and Younger 128 57

Older than 30 Years Old 75 43
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hinki

ucted a suruey. He asked 100 people who live in the

in the suburbs if they prefer bicycling, driving, walking'

n to work. The results are shown in the tabfe below'

20

Drive 35

A 72 test was conducted at the 5% significance level'

(a) Write down the null hypothesis for this test. t1l

(b) Write down the number of degrees of freedom. t1l

(c) Use your calculator to find the p-value for this test. 121

The surveyor claims that whether people live in the city or suburbs is independent of

their choice of getting to work.

(d) Determine whether this claim is justified. Give a reason for your answer, l2l
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A data cotlection consisting of 30 primary years students shows their body
weight (W) in kilograms versus the distance (D) in meters they can run in 60 seconds-

The correlation coefficient between variables W and D is -0.928. The following is also
known:

and

(a)

And the regressíon equation for the line of best fit between E and I/ is given by'!=mX + kl
þ - kW + 192 where kisareal numberconstant.

Find k .

V V/ b. Use your result from part (a) above to predict the distance D run by a student
with a weight W of 45 kg.

= -1,5 at-

lLr\,5 fn(þut

W=48kg D : L20m

0= -t,ç (As)+\qz
r)

12Å,5
l?g = K(q>) :i27

-rqL

a)

Ð

Wotuíng
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(.=-1.1
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dlc 125 m. \ or 3 s.ç.
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